Canad. Math. Bull. Vol. 58 (2), 2015 pp. 423-431 http://dx.doi.org/10.4153/CMB-2015-002-8 © Canadian Mathematical Society 2015



Resultants of Chebyshev Polynomials: the First, Second, Third, and Fourth Kinds

Masakazu Yamagishi

Abstract. We give an explicit formula for the resultant of Chebyshev polynomials of the first, second, third, and fourth kinds. We also compute the resultant of modified cyclotomic polynomials.

Introduction 1

In [4], Jacobs, Rayes, and Trevisan obtained explicit formulas for the resultants of Chebyshev polynomials of the first and second kinds, and Louboutin gave a short proof in [8]. As there are four (first, second, third, and fourth) kinds of Chebyshev polynomials, it is the purpose of this note to compute the resultant of two Chebyshev polynomials of any kinds. It is intriguing to notice that the Jacobi symbol is involved in the result. For the proof, we use the roots of Chebyshev polynomials, basic properties of sine and cosine values, and basic properties of the Jacobi symbol, including the reciprocity law. When restricted to the first or second kinds, our proof is different from both [4] and [8]. As an application, we also compute the resultant of modified cyclotomic polynomials. Our result is a refinement of a well-known formula due to Diederichsen [2] (see also [1,3,5,7,9]) for the resultants of cyclotomic polynomials.

Resultant of Chebyshev Polynomials 2

The Chebyshev polynomials T_n , U_n , V_n , and W_n of the first, second, third, and fourth kind, respectively, are characterized by

$$T_n(\cos\theta) = \cos n\theta, \qquad U_n(\cos\theta) = \frac{\sin(n+1)\theta}{\sin\theta},$$
$$V_n(\cos\theta) = \frac{\cos(n+1/2)\theta}{\cos\theta/2}, \qquad W_n(\cos\theta) = \frac{\sin(n+1/2)\theta}{\sin\theta/2},$$

. /

where *n* is an integer (*cf.* [11, 12]). The normalized Chebyshev polynomials of the first and second kinds are defined by $C_n(x) = 2T_n(x/2), S_n(x) = U_n(x/2)$. We adopt Schur's notation $\mathscr{S}_n(x) = S_{n-1}(x)$. For odd *n* we define

$$\mathscr{V}_n(x) = V_{(n-1)/2}(x/2), \quad \mathscr{W}_n(x) = W_{(n-1)/2}(x/2).$$

Received by the editors October 3, 2013.

Published electronically March 2, 2015.

This work was supported by JSPS KAKENHI (No. 23540014).

AMS subject classification: 11R09, 11R18, 12E10, 33C45.

Keywords: resultant, Chebyshev polynomial, cyclotomic polynomial.

In this note, we always assume odd indices for the polynomials \mathcal{V}_n and \mathcal{W}_n . For $n \ge 1$ we have

$$C_n(x) = \prod_{\substack{0 < j < 2n, \\ j: \text{odd}}} \left(x - 2\cos\frac{j\pi}{2n} \right), \qquad \mathscr{S}_n(x) = \prod_{\substack{0 < j < 2n, \\ j: \text{even}}} \left(x - 2\cos\frac{j\pi}{2n} \right),$$
$$\mathscr{V}_n(x) = \prod_{\substack{0 < j < n, \\ j: \text{oven}}} \left(x - 2\cos\frac{j\pi}{2n} \right), \qquad \mathscr{W}_n(x) = \prod_{\substack{0 < j < n, \\ j: \text{even}}} \left(x - 2\cos\frac{j\pi}{n} \right).$$

We will use the following identities:

(2.1)
$$W_n(-x) = (-1)^n V_n(x),$$

(2.2)
$$\mathscr{W}_m(C_n(x)) = \begin{cases} \mathscr{W}_{mn}(x)/\mathscr{W}_n(x) & \text{if } n \text{ is odd,} \\ \mathscr{S}_{mn/2}(x)/\mathscr{S}_{n/2}(x) & \text{if } n \text{ is even.} \end{cases}$$

Let res(f, g) denote the resultant of two polynomials f and g. For the definition and properties of the resultant, see [4]. In particluar, we note that

(2.3)
$$\operatorname{res}(g,f) = (-1)^{\operatorname{deg}(f)\operatorname{deg}(g)}\operatorname{res}(f,g).$$

In addition to those properties listed in [4], we also quote the following from [10]. If h is a polynomial with leading coefficient c, then

(2.4)
$$\operatorname{res}(f(h(x)),g((h(x))) = c^{\operatorname{deg}(f)\operatorname{deg}(g)\operatorname{deg}(h)}\operatorname{res}(f,g)^{\operatorname{deg}(h)}.$$

Let $n = \prod_{i=1}^{r} p_i^{e_i}$ be the prime factorization of a positive odd integer *n*, and *a* an integer. The Jacobi symbol is defined by

(2.5)
$$\left(\frac{a}{n}\right) = \prod_{i=1}^{r} \left(\frac{a}{p_i}\right)^{e_i},$$

where (a/p_i) is the Legendre symbol. For a prime *p* and an integer *n* we write $\operatorname{ord}_p(n) = k$ when p^k is the highest power of *p* dividing *n*.

Theorem 2.1 Let m, n be positive integers and let g = gcd(m, n).

$$\begin{array}{ll} (i) & \operatorname{res}(C_m, C_n) = \begin{cases} (-1)^{mn/2} 2^g & \text{if } \operatorname{ord}_2(m) \neq \operatorname{ord}_2(n), \\ 0 & \text{if } \operatorname{ord}_2(m) = \operatorname{ord}_2(n). \end{cases} \\ (ii) & \operatorname{res}(\mathscr{S}_m, \mathscr{S}_n) = \begin{cases} (-1)^{(m-1)(n-1)/2} & \text{if } g = 1, \\ 0 & \text{if } g > 1. \end{cases} \\ (iii) & \operatorname{res}(\mathscr{V}_m, \mathscr{V}_n) = \left(\frac{m}{n}\right). \\ (iv) & \operatorname{res}(\mathscr{W}_m, \mathscr{W}_n) = \left(\frac{n}{m}\right). \end{cases} \\ (v) & \operatorname{res}(C_m, \mathscr{S}_n) = \begin{cases} (-1)^{m(n-1)/2} 2^{g-1} & \text{if } \operatorname{ord}_2(m) \ge \operatorname{ord}_2(n), \\ 0 & \text{if } \operatorname{ord}_2(m) < \operatorname{ord}_2(n). \end{cases} \\ (vi) & \operatorname{res}(C_m, \mathscr{V}_n) = \operatorname{res}(\mathscr{W}_n, C_m) = \left(\frac{2}{n/g}\right) 2^{(g-1)/2}. \end{cases} \\ (vii) & \operatorname{res}(\mathscr{S}_m, \mathscr{V}_n) = \operatorname{res}(\mathscr{W}_n, \mathscr{S}_m) = \left(\frac{m}{n}\right). \\ (viii) & \operatorname{res}(\mathscr{W}_m, \mathscr{V}_n) = \left(\frac{2}{g}\right) 2^{(g-1)/2}. \end{cases}$$

Proof For positive integers *n* and *a* we introduce the following products:

$$S(n,a) = \prod_{0 < j < n} 2\sin\frac{aj\pi}{n}, \qquad C(n,a) = \prod_{0 < j < n} 2\cos\frac{aj\pi}{n},$$
$$s(n,a) = \prod_{0 < j < n/2} 2\sin\frac{aj\pi}{n}, \qquad c(n,a) = \prod_{0 < j < n/2} 2\cos\frac{aj\pi}{n}.$$

Then we have

$$\operatorname{res}(\mathscr{S}_m, \mathscr{S}_n) = \prod_{0 < j < m} \mathscr{S}_n \left(2 \cos \frac{j\pi}{m} \right) = \frac{S(m, n)}{S(m, 1)},$$

$$\operatorname{res}(\mathscr{S}_m, C_n) = \prod_{0 < j < m} C_n \left(2 \cos \frac{j\pi}{m} \right) = C(m, n),$$

$$\operatorname{res}(\mathscr{W}_m, \mathscr{W}_n) = \prod_{\substack{0 < j < m, \\ j: \text{even}}} \mathscr{W}_n \left(2 \cos \frac{j\pi}{m} \right) = \frac{s(m, n)}{s(m, 1)},$$

$$\operatorname{res}(\mathscr{W}_m, C_n) = \prod_{\substack{0 < j < m, \\ j: \text{even}}} C_n \left(2 \cos \frac{j\pi}{m} \right) = c(m, 2n),$$

$$\operatorname{res}(\mathscr{W}_m, \mathscr{S}_n) = \prod_{\substack{0 < j < m, \\ j: \text{even}}} \mathscr{S}_n \left(2 \cos \frac{j\pi}{m} \right) = \frac{s(m, 2n)}{s(m, 1)},$$

$$\operatorname{res}(\mathscr{W}_m, \mathscr{V}_n) = \prod_{\substack{0 < j < m, \\ j: \text{even}}} \mathscr{V}_n \left(2 \cos \frac{j\pi}{m} \right) = \frac{c(m, n)}{c(m, 1)}.$$

Note that the denominators are nonzero. For these resultants the results are immediate from Lemma 2.3. Then changing the sign of x in (iv) and using (2.1), (2.4), and the reciprocity law of the Jacobi symbol, we obtain (iii). This also applies to the first equalities in (vi) and (vii). Finally,

$$\operatorname{res}(C_m, C_n) = \prod_{\substack{0 < j < 2m, \\ j: \text{odd}}} C_n \left(2\cos\frac{j\pi}{2m} \right) = \prod_{\substack{0 < j < 2m, \\ j: \text{odd}}} 2\cos\frac{nj\pi}{2m}$$

is nonzero if and only if $\operatorname{ord}_2(m) \neq \operatorname{ord}_2(n)$. If this is the case, then

$$\operatorname{res}(C_m,C_n)=\frac{C(2m,n)}{C(m,n)},$$

and (i) follows from Lemma 2.3.

Remark 2.2 In [4,8], explicit formulas for $res(T_m, T_n)$ and $res(U_m, U_n)$ were obtained. They are identical to our (i) and (ii), respectively, in view of (2.4).

Lemma 2.3 Let n, a be positive integers and
$$g = gcd(n, a)$$
.
(i) $S(n, a) = \begin{cases} (-1)^{(n-1)(a-1)/2}n & \text{if } g = 1, \\ 0 & \text{otherwise.} \end{cases}$

M. Yamagishi

(ii)
$$C(n,a) = \begin{cases} (-1)^{(n-1)a/2}2^{g-1} & \text{if } \operatorname{ord}_2(n) \le \operatorname{ord}_2(a), \\ 0 & \text{otherwise.} \end{cases}$$

(iii) If n is odd, then

$$s(n,a) = \begin{cases} \left(\frac{a}{n}\right)\sqrt{n} & \text{if a is odd,} \\ \left(\frac{a/2}{n}\right)\sqrt{n} & \text{if a is even.} \end{cases}$$

(iv) If n is odd, then

$$c(n,a) = \begin{cases} \left(\frac{2}{g}\right) 2^{(g-1)/2} & \text{if a is odd,} \\ \left(\frac{2}{n/g}\right) 2^{(g-1)/2} & \text{if a is even.} \end{cases}$$

Proof We put n' = n/g, a' = a/g.

(i) If g > 1, then S(n, a) = 0, since $\sin(an'\pi/n) = 0$. Suppose g = 1 and let $\zeta_N = e^{2\pi i/N}$ (*N* is a positive integer). Since $2\sin(aj\pi/n) = i\zeta_{2n}^{-aj}(1-\zeta_n^{aj})$, we have

$$S(n,a) = i^{n-1} \zeta_{2n}^{-an(n-1)/2} \prod_{j=1}^{n-1} \left(1 - \zeta_n^j\right) = (-1)^{(n-1)(a-1)/2} n.$$

(ii) If $\operatorname{ord}_2(n) > \operatorname{ord}_2(a)$, then C(n, a) = 0, since $\cos(a(n'/2)\pi/n) = 0$. Suppose $\operatorname{ord}_2(n) \le \operatorname{ord}_2(a)$; in particular, n' is odd. If g = 1, then by (i) we have $S(n, a) \ne 0$, $S(n, 2a) \ne 0$, and

$$C(n,a) = \frac{S(n,2a)}{S(n,a)} = (-1)^{(n-1)a/2}$$

If g > 1, then

$$C(n,a) = \prod_{k=0}^{g-1} \prod_{j=1}^{n'-1} 2\cos\frac{a(kn'+j)\pi}{n} \times \prod_{k=1}^{g-1} 2\cos\frac{a(kn')\pi}{n}$$
$$= \prod_{k=0}^{g-1} \prod_{j=1}^{n'-1} (-1)^{a'k} 2\cos\frac{a'j\pi}{n'} \times \prod_{k=1}^{g-1} 2(-1)^{a'k}$$
$$= (-1)^{(n-n')a/2} 2^{g-1} C(n',a')^g,$$

and we are reduced to the case g = 1.

(iii) If g > 2, then S(n, a) = 0 since sin(an'π/n) = 0. Suppose g = 1. It follows from
(i) and the identity S(n, a) = (-1)^{(n-1)(a-1)/2}s(n, a)² that |s(n, a)| = √n. By Gauss' Lemma, the sign of s(a, n) is equal to (a/2/n) if a is even (cf. [6, Proposition 8.1]). If a is odd, then, counting the number of odd j's in the interval 0 < j < n/2, we see that s(n, a) = (2/n) s(n, a + n), so the sign of s(n, a) is (a/n).
(iv) If g = 1, then by (iii) we have s(n, a) ≠ 0 and

$$c(n,a) = \frac{s(n,2a)}{s(n,a)} = \begin{cases} 1 & \text{if } a \text{ is odd,} \\ \left(\frac{2}{n}\right) & \text{if } a \text{ is even.} \end{cases}$$

Suppose g > 1. We compute

$$c(n,a) = \frac{\binom{(g-1)}{2}}{\prod_{k=0}^{k=0} \prod_{0 < j < n'/2}^{k} 2 \cos \frac{a(kn'+j)\pi}{n}}{\times \prod_{k=1}^{(g-1)/2} \prod_{0 < j < n'/2}^{k} 2 \cos \frac{a(kn'-j)\pi}{n} \times \prod_{k=1}^{(g-1)/2}^{k-1} 2 \cos \frac{a(kn')\pi}{n}}{\prod_{k=0}^{k} 2 \cos \frac{a'j\pi}{n'}}$$
$$= \frac{\binom{(g-1)}{2}}{\prod_{k=0}^{k} 0 < j < n'/2} (-1)^{a'k} 2 \cos \frac{a'j\pi}{n'}$$
$$\times \frac{\binom{(g-1)}{2}}{\prod_{k=1}^{k} 0 < j < n'/2} (-1)^{a'k} 2 \cos \frac{a'j\pi}{n'} \times \frac{\binom{(g-1)}{2}}{\prod_{k=1}^{k} 2 (-1)^{a'k}} 2 (-1)^{a'k}$$
$$= \varepsilon 2^{(g-1)/2} c(n',a')^g,$$

where $\varepsilon = 1$ if a' is even, and $\varepsilon = (-1)^{(g^2-1)/8} = (\frac{2}{g})$ if a' is odd. Thus we are reduced to the case g = 1.

3 Resultant of Modified Cyclotomic Polynomials

For $n \ge 3$ let Ψ_n denote the minimal polynomial of $2 \cos(2\pi/n)$ over \mathbb{Q} . Then $\Psi_n(x) \in \mathbb{Z}[x]$ and deg $(\Psi_n) = \phi(n)/2$. These are what we called the modified cyclotomic polynomials in the introduction, as we have the identity

(3.1)
$$\Psi_n(x+x^{-1}) = x^{-\phi(n)/2} \Phi_n(x)$$

where Φ_n is the *n*-th cyclotomic polynomial. Here are some properties of Ψ_n . For *n* odd we have

$$\Psi_{2n}(x) = \Psi_n(-x).$$

By [13, Proposition 2.5] we have

(3.3)
$$\Psi_n(x) = \begin{cases} \prod_{d|n} \mathscr{W}_d(x)^{\mu(n/d)} & \text{if } n \equiv 1 \pmod{2}, \\ \prod_{d|n/2} \mathscr{V}_d(x)^{\mu(n/2d)} & \text{if } n \equiv 2 \pmod{4}, \\ \prod_{d|n/2} \mathscr{S}_d(x)^{\mu(n/2d)} & \text{if } n \equiv 0 \pmod{4}. \end{cases}$$

Combining this with (2.2), for *p* a prime we have

(3.4)
$$\Psi_n(C_p(x)) = \begin{cases} \Psi_{pn}(x)\Psi_n(x) & \text{if } p \neq n, \\ \Psi_{pn}(x) & \text{if } p \mid n. \end{cases}$$

We need to generalize the Jacobi symbol to the Kronecker symbol; it is defined by (2.5) for any positive integer *n* by requiring further that

$$\left(\frac{a}{2}\right) = \begin{cases} 0 & \text{if } a \equiv 0 \pmod{2}, \\ 1 & \text{if } a \equiv \pm 1 \pmod{8}, \\ -1 & \text{if } a \equiv \pm 3 \pmod{8}. \end{cases}$$

We introduce one more notation. For a positive integer n let L(n) = p if n is a power of some prime p, and L(n) = 1 otherwise. The notation $\Lambda(n) = \log L(n)$ is

often used in analytic number theory. We note the following identity:

$$L(n) = \prod_{d|n} d^{\mu(n/d)}$$

Lemma 3.1 Let $n \ge 3$.

(i) $\Psi_n(2) = L(n)$.

(ii) Except for $\Psi_4(-2) = -2$, we have

$$\Psi_n(-2) = \begin{cases} \left(\frac{-1}{L(n)}\right) & \text{if } n \text{ is odd,} \\ \left(\frac{-1}{L(n/2)}\right)L(n/2) & \text{if } n \text{ is even, } n > 4. \end{cases}$$

(iii) Except for $\Psi_4(0) = 0$, $\Psi_8(0) = -2$, we have

$$\Psi_n(0) = \begin{cases} \left(\frac{-2}{L(n)}\right) & \text{if } n \equiv 1 \pmod{2}, \\ \left(\frac{2}{L(n/2)}\right) & \text{if } n \equiv 2 \pmod{4}, \\ \left(\frac{-1}{L(n/4)}\right) L(n/4) & \text{if } n \equiv 0 \pmod{4}. \end{cases}$$

Proof The exceptional cases are clear as $\Psi_4(x) = x$, $\Psi_8(x) = x^2 - 2$. For odd *n* the claims follow from (3.3), (3.5), and the facts $\mathscr{W}_n(2) = n$, $\mathscr{W}_n(-2) = \left(\frac{-1}{n}\right)$, $\mathscr{W}_n(0) = \left(\frac{-2}{n}\right)$. Then applying (3.4) for p = 2 (so $C_2(x) = x^2 - 2$), we complete the proof.

Now we compute $res(\Psi_m, \Psi_n)$. In view of (2.3), we may make some additional restrictions on *m* and *n*.

Theorem 3.2 Let $m, n \ge 3, m \ne n$.

(i) If m + n, n + m, and m is odd, then

$$\operatorname{res}(\Psi_m, \Psi_n) = \Big(\frac{L(n)}{L(m)}\Big).$$

(ii) If m + n, n + m, m < n, and m, n are even, then

$$\operatorname{res}(\Psi_m, \Psi_n) = \left(\frac{L(m/2)}{L(n/2)}\right)$$

(iii) If $m \mid n$ and m is odd, then, putting $L_1 = L(m)$, $L_2 = L(n/m)$, we have

$$\frac{\operatorname{res}(\Psi_m, \Psi_n)}{L_2^{\phi(m)/2}} = \begin{cases} \left(\frac{L_2}{L_1}\right) & \text{if } L_1 \neq L_2, \\ 1 & \text{if } L_1 = L_2. \end{cases}$$

(iv) If $m \mid n$ and $\operatorname{ord}_2(m) = 1$, then, putting $L_1 = L(m/2)$, $L_2 = L(n/m)$, we have

$$\frac{\operatorname{res}(\Psi_m, \Psi_n)}{L_2^{\phi(m)/2}} = \begin{cases} \left(\frac{L_2}{L_1}\right) & \text{if } L_1 \neq L_2, \\ \left(\frac{-1}{L_1}\right) & \text{if } L_1 = L_2. \end{cases}$$

(v) If $4 \mid m \mid n$, then, putting $L_2 = L(n/m)$, we have

$$\frac{\operatorname{res}(\Psi_m, \Psi_n)}{L_2^{\phi(m)/2}} = \begin{cases} -1 & \text{if } m = 4, n = 8, \\ \left(\frac{-1}{L_2}\right) & \text{if } m = 4, n \neq 8, \\ 1 & \text{otherwise.} \end{cases}$$

Resultants of Chebyshev Polynomials

Proof (i) We use induction on the number of prime divisors (multiplicity taken into account) of g = gcd(m, n).

If g = 1, then the claim follows from (3.3), Theorem 2.1, and (3.5); note that L(n) = 1 if $n \equiv 2 \pmod{4}$ and that L(n/2) = L(n) if $n \equiv 0 \pmod{4}$.

Suppose g > 1. Since the assumption implies L(n) = 1 or L(m) = 1, we have to show that res $(\Psi_m, \Psi_n) = 1$. Let p be a prime divisor of g. We have $m/p \ge 3$, $n/p \ge 2$ by the assumption. If n/p = 2, then by (2.3), (2.4), and (3.2) we have

$$\operatorname{res}(\Psi_m, \Psi_n) = \operatorname{res}(\Psi_{2m}(-x), \Psi_p(-x)) = \operatorname{res}(\Psi_p, \Psi_{2m}),$$

whose computation will be postponed until (iii). Suppose $n/p \ge 3$. By (2.4) we have

$$\operatorname{res}(\Psi_{m/p},\Psi_{n/p})^p = \operatorname{res}(\Psi_{m/p}(C_p(x)),\Psi_{n/p}(C_p(x)),$$

then by (3.4) we find that

(3.6)
$$\operatorname{res}(\Psi_{m}, \Psi_{n}) = \begin{cases} \frac{\operatorname{res}(\Psi_{m/p}, \Psi_{n/p})^{p-1}}{\operatorname{res}(\Psi_{m}, \Psi_{n/p}) \operatorname{res}(\Psi_{m/p}, \Psi_{n})}, & \text{if } \mu = \nu = 1, \\ \frac{\operatorname{res}(\Psi_{m/p}, \Psi_{n/p})^{p}}{\operatorname{res}(\Psi_{m/p}, \Psi_{n})}, & \text{if } \mu = 1, \nu \ge 2, \\ \frac{\operatorname{res}(\Psi_{m/p}, \Psi_{n/p})^{p}}{\operatorname{res}(\Psi_{m}, \Psi_{n/p})}, & \text{if } \mu \ge 2, \nu = 1, \\ \operatorname{res}(\Psi_{m/p}, \Psi_{n/p})^{p}, & \text{if } \mu \ge 2, \nu \ge 2, \end{cases}$$

where we put $\mu = \operatorname{ord}_p(m)$, $\nu = \operatorname{ord}_p(n)$. The idea of using this identity is borrowed from [3]. In each case, it follows from the induction hypothesis that $\operatorname{res}(\Psi_m, \Psi_n) = 1$.

(ii) The case m = 4 is immediate from Lemma 3.1, since $res(\Psi_4, \Psi_n) = \Psi_n(0)$. We suppose that $m \ge 6$ and use the identity (3.6), which is valid also for p = 2.

The case $\operatorname{ord}_2(m) = \operatorname{ord}_2(n) = 1$. By (2.3),(3.6), and (i) we have

$$\operatorname{res}(\Psi_m, \Psi_n) = (-1)^{\phi(m/2)\phi(n/2)/4} \left(\frac{L(n/2)}{L(m/2)} \right)$$

Since we have $\phi(k) \equiv L(k) - 1 \pmod{4}$, if $k \ge 3$ is odd, we have

$$\operatorname{res}(\Psi_m, \Psi_n) = \left(\frac{L(m/2)}{L(n/2)}\right)$$

by the reciprocity law.

The case $\operatorname{ord}_2(m) = 1$, $\operatorname{ord}_2(n) \ge 2$. Similarly, we have

$$\operatorname{res}(\Psi_m, \Psi_n) = \left(\frac{L(n)}{L(m/2)}\right)$$

We have either L(n) = L(n/2) = 1 or L(n) = L(n/2) = 2, so, in any case,

$$\left(\frac{L(n)}{L(m/2)}\right) = \left(\frac{L(m/2)}{L(n/2)}\right)$$

The case $\operatorname{ord}_2(m) \ge 2$, $\operatorname{ord}_2(n) = 1$. Similarly, we have

$$\operatorname{res}(\Psi_m, \Psi_n) = (-1)^{\phi(m)\phi(n/2)/4} \left(\frac{L(m)}{L(n/2)}\right).$$

Since we have $4 | \phi(m), 2 | \phi(n/2)$, and L(m) = L(m/2), we are done.

The case $\operatorname{ord}_2(m) \ge 2$, $\operatorname{ord}_2(n) \ge 2$. Similarly, we have $\operatorname{res}(\Psi_m, \Psi_n) = 1$. Since at least one of m/2, n/2 is not a prime power, we are done.

(iii) We use induction on the number of prime divisors (multiplicity taken into account) of m. Let p be a prime divisor of m.

The case m = p. If n = 2p, then by Theorem 2.1 we have

$$\operatorname{res}(\Psi_m, \Psi_n) = \operatorname{res}(\mathscr{W}_p, \mathscr{V}_p) = \left(\frac{2}{p}\right) 2^{(p-1)/2},$$

as desired. Suppose $n/p \ge 3$. First we compute

$$\operatorname{res}(\Psi_p, \Psi_{n/p}(C_p)) = \prod_{j=1}^{(p-1)/2} \Psi_{n/p}\Big(C_p\Big(2\cos\frac{2j\pi}{p}\Big)\Big) = \Psi_{n/p}(2)^{(p-1)/2},$$

so that by Lemma 3.1 we have

(3.7)
$$\operatorname{res}(\Psi_p, \Psi_{n/p}(C_p)) = L(n/p)^{\phi(p)/2}.$$

Now, if $\operatorname{ord}_p(n) = 1$, then we have

$$\operatorname{res}(\Psi_p, \Psi_n) = \frac{\operatorname{res}(\Psi_p, \Psi_{n/p}(C_p))}{\operatorname{res}(\Psi_p, \Psi_{n/p})} = \left(\frac{L(n/p)}{L(p)}\right) L(n/p)^{\phi(p)/2}$$

by (i) and (3.7). If $\operatorname{ord}_p(n) \ge 2$, then we have

$$\operatorname{res}(\Psi_p, \Psi_n) = \operatorname{res}(\Psi_p, \Psi_{n/p}(C_p)) = L(n/p)^{\phi(p)/2}.$$

Since either L(n/m) = 1 or L(n/m) = L(m) = p holds, we are done.

The case $\operatorname{ord}_p(m) = 1, m > p$. In this case L(m) = 1, so we have to show that $\operatorname{res}(\Psi_m, \Psi_n) = L(n/m)^{\phi(m)/2}$. First suppose $\operatorname{ord}_p(n) = 1$. By (3.6) and the induction hypothesis we have

$$\operatorname{res}(\Psi_{m/p}, \Psi_{n/p}) = \pm L(n/m)^{\phi(m/p)/2}, \quad \operatorname{res}(\Psi_{m/p}, \Psi_n) = 1$$

Since m + (n/p), (n/p) + m, and L(m) = 1, we have $\operatorname{res}(\Psi_m, \Psi_{n/p}) = 1$ by (i). Thus we have $\operatorname{res}(\Psi_m, \Psi_n) = L(n/m)^{\phi(m)/2}$. We next suppose $\operatorname{ord}_p(n) \ge 2$, and use (3.6) and the induction hypothesis. If $L_2 = 1$, then L(n/(m/p)) = 1, so $\operatorname{res}(\Psi_m, \Psi_n) = 1$. Otherwise, $L_2 = L(n/(m/p)) = p$, so

$$\operatorname{res}(\Psi_m,\Psi_n) = \left(\left(\frac{p}{L(m/p)} \right) p^{\phi(m/p)/2} \right)^{p-1} = p^{\phi(m)/2}.$$

The case $\operatorname{ord}_p(m) \ge 2$. By equation (3.6) and the induction hypothesis, and noting that L(m/p) = L(m), we obtain the desired result.

(iv) The case $\operatorname{ord}_2(n) = 1$.

By (2.4) and (3.2) we have

$$\operatorname{res}(\Psi_m, \Psi_n) = (-1)^{\phi(m)\phi(n)/4} \operatorname{res}(\Psi_{m/2}, \Psi_{n/2})$$

We could use (3.6) for p = 2 to deduce this. As is easily seen, we have

$$(-1)^{\phi(m)\phi(n)/4} = \begin{cases} 1 & \text{if } L_1 \neq L_2, \\ \left(\frac{-1}{L_1}\right) & \text{if } L_1 = L_2, \end{cases}$$

so the claim follows from (iii).

The case $\operatorname{ord}_2(n) \ge 2$. We use equation (3.6) for p = 2 and (iii). If $L_2 = 1$, then L(n/(m/2)) = 1, so $\operatorname{res}(\Psi_m, \Psi_n) = 1$. Otherwise, $L_2 = L(n/(m/2)) = 2$ and $L_1 \ne L_2$, so

$$\operatorname{res}(\Psi_m, \Psi_n) = \left(\frac{2}{L_1}\right) 2^{\phi(m/2)/2}$$

(v) This is immediate from Lemma 3.1 if m = 4. Otherwise, using (3.6) for p = 2 and induction, we complete the proof.

Corollary 3.3 ([1-3,5,7,9]) If $3 \le m < n$, then

$$\operatorname{res}(\Phi_m, \Phi_n) = \begin{cases} 1 & \text{if } m + n, \\ L(n/m)^{\phi(m)} & \text{if } m \mid n. \end{cases}$$

Proof Let $\zeta = e^{2\pi i/m}$. By (3.1) we have

$$\operatorname{res}(\Psi_m, \Psi_n)^2 = \prod_{j \in (\mathbb{Z}/m)^{\times}} \Psi_n(\zeta^j + \zeta^{-j}) = \prod_{j \in (\mathbb{Z}/m)^{\times}} (\zeta^j)^{-\phi(n)/2} \Phi_n(\zeta^j) = \operatorname{res}(\Phi_m, \Phi_n),$$

since $\sum_{j \in (\mathbb{Z}/m)^{\times}} j \equiv 0 \pmod{m}$. So the claim follows from Theorem 3.2.

References

- T. M. Apostol, *Resultants of cyclotomic polynomials*. Proc. Amer. Math. Soc. 24(1970), 457–462. http://dx.doi.org/10.1090/S0002-9939-1970-0251010-X
- [2] F.-E. Diederichsen, Über die Ausreduktion ganzzahliger Gruppendarstellungen bei arithmetischer Äquivalenz. Abh. Math. Sem. Hansischen Univ. 13(1940), 357–412. http://dx.doi.org/10.1007/BF02940768
- [3] G. Dresden, *Resultants of cyclotomic polynomials*. Rocky Mountain J. Math. 42(2012), no. 5, 1461–1469. http://dx.doi.org/10.1216/RMJ-2012-42-5-1461
- [4] D. P. Jacobs, M. O. Rayes, and V. Trevisan, *The resultant of Chebyshev polynomials*. Canad. Math. Bull. 54(2011), no. 2, 288–296. http://dx.doi.org/10.4153/CMB-2011-013-1
- [5] E. T. Lehmer, A numerical function applied to cyclotomy. Bull. Amer. Math. Soc. 36(1930), no. 4, 291–298. http://dx.doi.org/10.1090/S0002-9904-1930-04939-3
- [6] F. Lemmermeyer, *Reciprocity laws. From Euler to Eisenstein*. Springer Monographs in Mathematics, Springer-Verlag, Berlin, 2000.
- [7] S. Louboutin, *Resultants of cyclotomic polynomials*. Publ. Math. Debrecen 50(1997), no. 1–2, 75–77.
- [8] _____, Resultants of Chebyshev polynomials: a short proof. Canad. Math. Bull. 56(2013), no. 3, 602–605. http://dx.doi.org/10.4153/CMB-2012-002-1
- H. Lüneburg, Resultanten von Kreisteilungspolynomen. Arch. Math. (Basel) 42(1984), no. 2, 139–144. http://dx.doi.org/10.1007/BF01772933
- [10] J. H. McKay and S. S. S. Wang, A chain rule for the resultant of two polynomials. Arch. Math. (Basel) 53(1989), no. 4, 347–351. http://dx.doi.org/10.1007/BF01195214
- [11] J. C. Mason and D. C. Handscomb, *Chebyshev polynomials*. Chapman & Hall/CRC, Boca Raton, FL, 2003.
- [12] T. J. Rivlin, Chebyshev polynomials. From approximation theory to algebra and number theory. Second ed., Pure and Applied Mathematics (New York), John Wiley & Sons, Inc., New York, 1990.
- [13] M. Yamagishi, A note on Chebyshev polynomials, cyclotomic polynomials and twin primes. J. Number Theory 133(2013), no. 7, 2455–2463. http://dx.doi.org/10.1016/j.jnt.2013.01.008

Department of Mathematics, Nagoya Institute of Technology, Gokiso-cho, Showa-ku, Nagoya, Aichi 466-8555, Japan

e-mail: yamagishi.masakazu@nitech.ac.jp